Revision Sheet – Rates, Ratio and Proportion
1. How many parts are there in the following ratios?

a) 4:6 =               b) 2:3 =               c) 1:1 =               d) 5:2 =               e) 4:2 = 

f) 9:7 =                g) 1:4 =               h) 3:5 =                i) 6:3 =                j) 8:2 = 

k) 9:4 =                l) 2:2 =               m) 5:5 =               n) 3:9 =               o) 1:2 =

2. Find the value of one (1) part in the following:

a) $100 in a ratio of 4:2 =
b) $70 in a ratio of 6:1 =
c) 300 balloons in a ratio of 3:2 = 

d) 120L in a ratio of 2:1 = 

e) 16kg in a ratio of 9:7 = 

f) 375ml in a ratio of 1:4 =

3. The ratio of black pencils to white pencils is 3:2. Find the amount of black pencils there are, if there are:

a) 20 white pencils

b) 16 white pencils

c) 500 pencils in total

d) 25 pencils in total

4. Simplify the following ratios:

a) 2:4 =              b) 3:9 =             c) 5:10 =              d) 6:18 =              e) 12:16 = 

f) 15:18 =           g) 24:16 =         h) 21:14 =            i) 25:15 =              j) 42:28 = 

k)15:35 =           l) 27:36 =           m) 36:45 =         n) 42:28 =           o) 45:54 =   
5. Show the following ratios in the simplest form:

a) 3L : 1500ml =

b) 500g : 2kg =

c) 40cm : 1m =

d) 600m : 2km =

e) 15mins : 1hour =

f) 40 secs : 2 mins =

6. Complete the following:
	Number of students
	Ratio of boys to girls
	Number of Boys
	Number of Girls

	24


	2:1
	
	

	25


	2:3
	
	

	21


	3:4
	
	


7. Express the following rate in the simplest form:

a) The cost of a 12L tin of paint was $8 =

b) 60m of fencing wire cost $10 = 

c) Pakistan needs 250 runs in 50 overs to win the cricket = 

d) A 30 minute phone call cost 50AED =

8. In a contest, a group of people won 96,000 AED. It has to be shared in a ratio of 3:2:1. Work out how much each gets.

9. Mr James’ cake mix requires flour, eggs and chocolate In a ratio of 4:1:3. How much chocolate is there in a 2000g cake?

10. Find the speed of the following in the units indicated:
a) A snake travels 20 metres in 30 seconds           _______ m/min

b) An ant travels 30 metres in 3 minutes                _______ cm/min

c) A car travels 120 kilometres in 2 hours               _______ m/hour
